Problem 4 (18 points)

Three point charges, each with charge Q, are located at the three corners Q .\ @
of a square as shown in the diagram on the right. Each side of the square N

is of length d. A forth charge q is then located at the fourth corner. You <
may use k=1/4ne, Write carefully so your work can be followed A

(a) Derive the potential for the point charge in the upper left corner. d LY
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(b) How much energy was required to assemble the initial 3 Q charges?
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(c¢) How much work is required to move a charge q from the fourth corner to a point where the diagonals of the
square intersect?

To meve, The choevge G er wes \ have to do werle

O I.
2:;; Wyew = OFPE = 7 4Y= ¢l ~ V)
ol o Vie ViirVoy v Vg = KO, kG ) ko | kQ(4+13]
12 o T
LY r
el FPRi LIS LR
RwR-w m&z—ﬁ*_ﬁ_&g@,(ﬁww



